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Compound 1 (CsHgO) is not chiral and has an infrared absorption at 1704 cm !, Compound 1 reacts with methyllithium to give a
racemic mixture of two chiral compounds. Hydrogenation of the racemic mixture gives compound 2 (CgH120) which, like compound 1, is
not chiral.

Choose the answer for structure 1 that is consistent with this data.

c (A) c (B) c(C) c (D) c (E) c (F)
O O O O O o}
/

VIDEO SOLUTION A

]

How to Reach Us
Todd's Test Prep
2255 Glades Road



file:///
mailto:?body=http://orgoreview.com/question/dfac42dfa815156a2b8625d726ee399e/
file:///

Suite 324A
Boca Raton, Florida 33431

E-mail: help@orgoreview.com

Links
Contact

Terms

Privacy Policy

follow us

Copyright 2025. All Rights Reserved.



mailto:help@orgoreview.com
file:///contact/
https://www.orgoreview.com/terms
https://www.orgoreview.com/privacy-policy
https://www.youtube.com/@orgoreview8403
https://www.facebook.com/profile.php?id=100083394579837

	ORGOREVIEW
	Question Vault
	VIDEO SOLUTION Ã—


